AT TTT T

THAT TIHIA
fager = IR q9g: 3 0T
e 100

qHe @ Group ‘A’
Addl gYeiaxd! id BIS1 32 Teaald. - qOX9=90

Give very short answer to the following questions.

Q. UG YIHTIT YUY THISSTE Y AT dig gal & AN & 9950 T Je¥ 9130
]
T AT ARG B 8 ?

What 1s the marginal cost if production change from 25 to 65 units causes to
change the total cost from Rs. 1780 to 19307

. AN YHHl P Bl ?

What 1s cost?

3 ICURH el AT AEEF o Aeqard |
Write the conditions for output determination.
¥,  HWed 9 Fer 9| et e
What type of land i1s marginal land?
.  FHEI HETs IS 9iq o1 9ieg ?
What type of money 1s called standard coin?

% YIQNR & YUl Y 9% qHed |
Clear the meaning of regressive tax system.

9, AT [qH™ qaFES HHl & 8l ?

What 1s human development index?

5. SR Y& H94 SEH Mg ?

How is the protected trade created?

. NHSIHT ATHAR H&T TPl AT TG ?

fafyredteTor qiferest 5



What types of goods are imported as per Ricardo?
90.  AUTTHT YT FISTTehl AT T =T & (e Tag ?

Which authority is responsible to prepare and implement economic planning in
state in Nepal?

AADI gldsadl BIcl 32 1odslA: IXY=]0
Give short answer to the following questions.

9. TS qUABT G TA HA ARG T HA qAdTLNA ANAH! GFaedl Aeda e |

Complete the table below and write the relation of total variable cost and total
cost.

gfATOT (Quantity)

&9 AT (TC)
1% 1z | <O N | W | & | W]

FA qIEqaie aETd (TVC)

& [ AW (TFC) 90

CREN
YU FITEUTAT W T B AT Goeleel <ol TR |

Discuss the relation of marginal and total revenue under perfect competition.

R, THIHSH TALH [qodEE AeTarg |

-

Write the features of monopoly market.
3. Wifgs T ATATdS SATANTIST MeaT I IHEN |

Differentiate between nominal and real wage.

9¥. A HETH IHE® 949l THeld |

Discuss the types of paper money.
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4.

1%.

Q.

9s.

L.

R0.

<.

R

Stras ¥ fstiae Tt Rrear gaasTed |

Differentiate between life and non life insurance.

ToEHl HET ATE® & & g ? A€l |

What are the major components of budget? Discuss.

LB @D He™ Jooid T e |

Mention the importance of public expenditure.

e e queEged afds fHemas a8 gfaa 1&g ?

How does human development index represent economic development?
AMY® [aBED! AT [Hgdael Gal =T=l THed |

Brietly discuss the classical approach of economic development.
AFAUNET ATIHT He™ FICHUAT T4l THerd |

Briefly discuss the importance of foreign trade.

AITAD! AT TR WHITe® AeTad |

Write the strategies of current plan of Nepal.

g% 0T Aliedele IaEWEed dad THerd |

Present the two way table with the help of example.

APl TEATGDD] AT TGN TFATE BT THAT T |

Construct a multiple bar diagram for the data below.

(Ieurad o/ MT)

/' 2070 | 2071 | 2072

ay fa.9. (Year B.S.)

SIS (Crops)

€T (Paddy) qoo 0 930
II% (Maize) qy 0 200 q00
T8 (Wheat) GO %0 20

fatarsdieTor arfaer
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qHg T Group ‘C'

Addl Jeiaadl AdAl IR 1gaeld - ¥Xq0=30
Give long answer to the following questions.
R} ANH AT G Fra= Fredl Tai |
Explain the classical theory of interest.
Y. MY dgaHa! FUEEH! F4T THaM |
Discuss the functions of commercial bank.
W. TAR AlFHSEE AW FERAH TR T ST 40 VTl FTEIRAT qlieAasl (FHTT
T AGHMAT Fedeb AT T |
Construct a frequency distribution table using tally bars with class interval of 10
and calculate arithmetic mean.
4, XX, X5, IR, W, R, RY, Y, 9, 9%, 39, 9% RZ, R], YO, 19, Ry,
3, ¥ 4R, T, 99, TR, 43, 4N, &%, V9, ¥¥, X%, 95, 99, 33, ¥q, LS
&3
AT
feguat sfwsare aftmaR T aeaet fafr 9amr T8 = 9 0% BN T qEEES
Rrsfor TR
Construct price index for the current year 2076 using Laspeyere's and Paasche's
method.
AT ¥ (2073) | a9 0% (Current Year,
TEE® (Goods) 2076)
Tl T, qRCATIT .S, Tl T, qreHToT
(Price Rs./unit)| (Quantity/kg) | iprice Rs./unit) | (QUantity)
&9eT (Clothes) 1200 3 1500 5
JIA™TT (Transport) 700 p) 900 4
@M (Food) 400 5 700 6
TRT&TT (Education) 700 ) 850 2
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